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( Fundamentals of Financial Management)
Full Marks : 70
Time : Three hours

The figures in the margin indicate
Jull marks for the questions.

Answer either in English or in Assamese.

1.  Choose the right answers : 1x10=10
w7 B0l iR Sferel ¢

(i) Which of the following is a part of
financial decision making ?

e @ ke Prare Rdes =i 2
(a) Financing decision

6 Prars

Contd.



(b) Dividend decision
wTepied Praie

(c) Investment decision
fRfFcs e

(d) All of the above
B HPCEICAS

(i) Which of the following represents the
capital structure of a company ?

ES (@FEIE @R GBF S o
sifffag T3 ?

(a) Debt and equities
A BN HA1H

(b) Equities and preference share

capital

FN SN SR S T
(c) All assets

AR ~ife
(d) All liabilities

APCERE Ml
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(iii) Which of the following is also known as

long-term investment decision ?

A @R R IPIe = [ Pas oo
el JIT 2

(a) Dividend decision
e Frare
(b) Working capital
FROFIN! JET
(c) Capital budgeting decision
To ST BrE
(d) All of the above
G AP

(iv) Current assets are twice the current
liabilities. If the working capital is

Rs.2,00,000, current assets would be :

5foTe g 5feTe IR e | 3 FIGRR e
2,00,000 5t 23, 5fere Toifeq vifKane 2°9 3

(@) Rs.2,00,000
(b) Rs.4,00,000
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(c) Rs.3,00,000
(d) Rs.1,00,000
(v) The capitalisation of profit is termed as :
ST SELH T GBS (RN T 8
(a) Stock dividend
BRI
(b) Cash dividend
57 STOJIRA
(c) Property dividend
TG sTepie
(d) Bond dividend
TG sepIl

(vi) Investment decisions are outside the
purview of financial decisions.

e PraeTiz el Faremgy s i
qfeso | |
(a) True

R
(b) False

e
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(vii) Increased use of debt increases the
financial risk of equity shareholders.

AT IR Jrac NI SRHYRIFer e
Rom I T |

(a) True

A

5
(b) False

ey

(viii) Capital budgeting decisions are
- generally of irreversible nature.

AT AT FARE IS SRR 25feq |

(@) True

o1
- (b) False
frl

(ix) The rate of return on investment falls
with the shortage of working capital.

JIAFIN To14R STSIA &703 #10al RFcieT #ires

2 B I |
(a) True
51
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(b) False
it

(x) Profitability index is also known as

benefit/cost ratio.

AT IPPRIF T / 4T TS T8 Pl
23|

() True
ol
(b) False

forey

2. Answer the following questions in about SO

words each : 2x5=10

e eppizs dfS0iR B 50 B TF =« [ooe
forall

(a) Whatis financial management ?

e “fRoee F1F QIE?
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(b) What is leverage ?.
feTeitae I @It 2

(c) What are the various methods of capital

budgeting decisions ?
e 2 B Rifow stafoomz & 2
(d) What is dividend ?
ORI PP (T 2
(e) What is permanent working capital ?
F FROTAN SETE TP (N 2
3. Answer the following questions within 150-

200 words each : (any four) 5x4=20

RIS erivTme 4ok Ted 150-200 bl %1 foese
&l ¢ (Rt o1faon)

(a) State the nature of financial

management.

R ARG oo 390 1|
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(b) Explain the significance of cost of capital.
A4S TS S T 34 |

(c) Explain the significance and limitations
of financial leverage.

RN FreIEeR wles 9iF RNRmoRT= Il
B
(d) Explain the capital budgeting process.

IELT 0O A I |

(e) Distinguish between gross working
capital and net working capital.

T PR ToT4eT O O PPN JoLe e
A Y&l |

() Explain the various forms of dividend.
ffon eRe sTenes R i 4|
4. Answer the following questions within S500-
600 words each :

ANI® eiges AfSGR UeF 500-600 B iF *[9
fooTe feral

(a) Discuss the scope and objectives of

financial management. 10
RE ARG AR S STRIFTZ SCtival
Sl
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Or / 92!

Describe the determinants of capital

structure of a firm.
1 eifeviRe g sNiof FefeeTg 3 41|

(b) State the various factors determining the

dividend policy of a company. 10

T GBR e R TS RafRerr
- SRR R 3¢ |

Or / 91

State the various factors determining the

working capital requirements of a firm.

51 2SR TR T FE eI PITI
e 3l 3 |

() Discuss the traditional methods of
capital budgeting decision. 10
eI S FEIGT AR AR STZ
G I |
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Or / 924t

ABC company is considering to purchase
one of the following two machines, the

details of which are given below :

ABC @RI Fie 761 GIfbas e =<1

o1 o =" @i =1eet, b wOIR Riwel were
EGH
Year Cash inflow (Rs.) Discount
Machine X Machine Y factor
@10%
Ist 3,00,000 1,00,000 0.909
2nd 4,00,000 3,00,000 0.826
3rd 5,00,000 4,00,000 0.751
4th 3,00,000 6,00,000 0.683
Sth 2,00,000 4,00,000 0.621

Cost of Machine X and Machine Y is
Rs.10,00,000 each.

b X SIS (o Y YD fomR &7 25
10,00,000 5 |
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Calculate Net Present Value and

Profitability Index.
YO G T S ACTHFO! FAHPRE o
40|

7+3=10
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